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PLANNING AND CONTROL
(Cornmorr t'ii ME' MCT)

IVlax. h{arks: 75
Time:3 hours
Note: 1'hrs question paper contains two parts A and t]'

Part A is contpuisory rvhich.urri.t 25 marks' Answer all questions in Part A' Part B

col-tslsts of 5 Llnits. Ansrver any one full question liotn each r,rnit. Errch question carries l0

marks and tnay' have a. b. c as suti questioris'

PAR'I'- A
(25 Marks)

t.a) Diltererrtiate hetri,tlert the production planning an<l production conirol' t2]

b) How the'.controlling".rri tr. done to regulate the pfogress of r'r'ork'/ t3]

c) Give the step hr1, ,r*[ For."urting procedLtre for using ti*re scrres i2]

di A forecastei ir-ur,ng all exporte'tttal srnoothing moclel wtlh a - (i+ and vr,ishes to convert

to a rnoving ur.rugJ Whirt iength of, moving averag€, is approxirnatelyr equivalent? [3]

e) What,do you r,,rdel:stancl by the term operating cloctrin'e in the inventory rnodelling? [2]

0 Do.trt I enhatrce returil on investment (ROI)? Explain' t3l

g) What are the assumptions in flow shop schedtrlirrg' t21

f;; Cotrpale trt/initc ioacling arttl/irtite loading' - 
t3l

i) what are rlrc ntethocls to take corrective acticn irr f'ollow-up? t2]

j) Diffbrentrate be$r'een cerilralizecl and decentralizecl rlispatchrng' t3]

PART-B 
(SoMarks)

l,a) Brrefll' explarn tlrc prereclutsrLes ol'PPC'

b) Explarn the proiluciiorr liiecl-cle rryirlr rhe ard ol'a graph [5+5]
OR

3.ai .ipFC regulates and controls "'how." "where." and'llhen" lvtlr"i< ts to be done " Whatdo

you undirstanci [r5' this st'atement?

bi State the prl,.,"ipies of gooci production plannrng and conrrol. [5*5]

4.a) what are the levels of aggregation rn forecasting for a marrufacturirTg organization? How

shorrldthrshierarchyol.forecastsbelinkedandused./
b) List our the ajvantaies ancl disadvantages of short term long term forecasting' [5+5]

OR

5 A firrn uses srmplc expOnential srnoothing wtth u = 0 I to forecast den]atrd' The foreoast

f:or the r.veek of'Ftebruar,v I rvas 500 uniti, r.r,hereas actuai dentand turrred out to be 450

un its.

a) Forecast tire detranil tor tlle u'eek of February 8'

D) Asslilllc tlrat the ;rctual dc.manci dLlring the week of |:ebruarl [3 turned out to be 505

r"rnits. Forecast tlte cietnarrd tbr the rveeliol'Februar,v i5' Ccntrnue tbrecasting through

March 15. assLirntttg ihat sutrsequent demands were actually 516^ 488' 467' 554 and 510

tuu ris.



6.a) F:,xpiarn tire corrcel;t bcirrnci tlre tr+c-dirnerrsiorrai aiid music -l-D rloilc'ls of inventort'
contlo i.

b) Wliat is MRP and \IRP-ll? Hor.v thel' are reiaterj? Lxplain. [5+5]
OR

r.ai !ilr'etllt)t')',,\ t1 {/\I('' Dr,\,lir agree'lJLrsir[1 \otlli.ins\\cr,
b) frinc'i the economic llt size, the assocratecl totai cost, ancl the length of tirne betr,ieen tnu

r.lrclcrs, gir"en that the set- up cost rs }ls.l00. daily holding cost per unit of inventor')' rs

Rs.0.05. anci claii.v demand rs approrinialely 30 units. [5t5]

I a.t Disringursir belu,een the routrng functions of conlrnuous and intclnrittcni prodr-ictrons.

bi F,xpiarn tlre use oi'Lirre clLlalance il.OB) in ProciLictrt-.rr corrtroi. F.rpiirin in det,iil the

steps rrrvolvecl in LOB [5*5]
o,R

9.a) L)escribe tlrc tbllorvin!r costq ln aggregate planrrrng auci explain tire diilicLrltres that arise irr
aiictil[)Lll]u [,) I']lLil\tlrJ lllclll lri u rcll \)l-rctr'allrrll (ll\ ll'r\lllilgtlt,
r) Snroothing costs {ii.i Iiolding costs

bl \\, lrat do yoLr unticrstancl by Cornpensatorl,Off'['iilicr') Explain its rnerits and dernerits.

l5+s l

l0.a) "The PPC {iinctror'ciispa[clirng'is,otjen nusunderstotrci '' Expiarn th.e correcl meanrn:g

and drrties of'thc iiispatclrrng 1'unctiott.

ir) \\/hat arc tlte stages of'foliovv up? Expiain ait\ l\,vo. [5+51
0tt

i 1.a) What are the lInr-rlions of'disnatching?
b) When do 1,ou preler decentralized dispatchrns to centralized dispatching? Erpiain their

l'eatures. [5+5]
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